



# Commercial Invoice

**Invoice Number** 0001014706

**Invoice Date** 17-02-2026

**ITN** X20260217788803

**Exporter** CORDIS US CORP  
86316364300  
14201 NW 60th Avenue  
Miami Lakes FL  
United States of America 33014  
86-3163643

**Ship To** CORDIS INDIA MEDICAL DEVICES PVT LTD  
BLDG NO.A3,UNIT NO.E  
BABOSA INDUSTRIAL PARK  
SARAVALI VILLAGE, BHIWANDI  
THANE, MH 421302  
India

**End-User**

**Freight Forwarder**  
EXPEDITORS - MEM

**Ship From** DC Branch Plant  
8631664300  
4080 Executive Dr  
Southaven, MS 38672  
United States of America  
863163643

**Bill To** CORDIS INDIA MEDICAL DEVICES PVT LTD  
701.B WING, SUPREME BUSINESS PARK  
HIRANANDANI GARDEN  
HIRANANDANI GARGEN, POWAI  
MUMBAI, MH 400076  
India

**Carrier**  
BRITISH AIRWAYS, ,HAWB: 4320201530,MAWB: 125-19928474

**MOT :** Air

**Port of Export :** PITTSBURGH INTL.

**Payment Method:**

**Incoterms & Location :** DPU : Chhatrapati S Maharaj,  
Mumbai

**Port of Unlading :** CHHATRAPATI S MAHARAJ

**Payment Terms:** Net 45 Days

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
1.000	401755M	SI BRITE TIP 7F 55CM STR Lot#: 18531078 Expiration Date: 10/31/2028	9018390050	EAR99	MX	442525 13-Feb-2026	2	EA	849.90	1699.80
2.000	4171840L	MAXI LD 7F 18X4 110CM Lot#: 82358099 Expiration Date: 04/30/2027	9018390040	EAR99	CR	442525 13-Feb-2026	18	EA	5010.19	90183.42
3.000	451430H0	CATH TEMPO 4F SIM 1 100CM Lot#: 18547474 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	65	EA	385.59	25063.35
4.000	451431H0	CATH TEMPO 4F SIM 2 100CM Lot#: 18543003 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	15	EA	961.76	14426.40
5.000	451435H0	CATH TEMPO 4F H1 100CM Lot#: 18518303 Expiration Date: 09/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	130	EA	962.50	125125.00
6.000	451442V0	CATH TEMPO 4F C1 65CM Lot#: 18537529 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	60	EA	934.56	56073.60

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Total Invoice Value INR 3841695.33

**Print Date** 02-18-2026

**User Name** tammy.  
harnsberger@cordis.  
com-cordis

**Digital Signature**

**Page Number** 1 of 17

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
7.000	451447S0	CATH TEMPO 4F RDC A1 80CM Lot#: 18506723 Expiration Date: 08/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	30	EA	965.44	28963.20
8.000	451506P0	CATH TEMPO 5F MP A1 (I) 125CM Lot#: 18547911 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	10	EA	1122.79	11227.90
9.000	451514H0	CATH TEMPO 5F VER 135° 100CM Lot#: 18547596 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	60	EA	356.84	21410.40
10.000	451530H0	CATH TEMPO 5F SIM 1 100CM Lot#: 18543088 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	55	EA	387.28	21300.40
11.000	451535H0	CATH TEMPO 5F H1 100CM Lot#: 18535708 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	195	EA	947.79	184819.05
12.000	451542V0	CATH TEMPO 5F C1 65CM Lot#: 18540849 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	45	EA	922.79	41525.55
13.000	48002525X	SABER 2.5MM25CM 150 Lot#: 82341521 Expiration Date: 05/31/2028	9018390040	EAR99	CR	442525 13-Feb-2026	1	EA	5778.75	5778.75

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3841695.33
------------------------------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
14.000	502455	DGW .035 FC J3MM 260CM TEF Lot#: 35274470 Expiration Date: 11/30/2028	9018390050	EAR99	IE	442525 13-Feb-2026	770	EA	646.03	497443.10
15.000	502521	DGW .035 FC J3MM 150CM TEF Lot#: 35274756 Expiration Date: 10/31/2028	9018390050	EAR99	IE	442525 13-Feb-2026	1340	EA	392.35	525749.00
16.000	502526	DGW .032 FC J3MM 150CM TEF Lot#: 35274150 Expiration Date: 08/31/2028	9018390050	EAR99	IE	442525 13-Feb-2026	5	EA	392.35	1961.75
17.000	504300	BIOPSY FORCEPS 5.5F STD 104CM Lot#: 70925255 Expiration Date: 08/31/2028	9018908000	EAR99	US	442525 13-Feb-2026	1	EA	6412.98	6412.98
18.000	504606D	SI AVANTI+ 6F MID W/OBT Lot#: 18528158 Expiration Date: 10/31/2028	9018390050	EAR99	MX	442525 13-Feb-2026	5	EA	494.85	2474.25
19.000	533640	CATH F6 ST+ MP A1 100CM Lot#: 18532992 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	5	EA	465.32	2326.60
20.000	534518T	CATH F5 INF JL 3.5 100CM Lot#: 18539203 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	55	EA	463.75	25506.25

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3841695.33
------------------------------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
21.000	534519T	CATH F5 INF JR 3.5 100CM Lot#: 18530757 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	80	EA	476.91	38152.80
22.000	534520T	CATH F5 INF JL 4 100CM Lot#: 18542573 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	10	EA	463.75	4637.50
23.000	534522T	CATH F5 INF JL 5 100CM Lot#: 18540794 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	5	EA	463.75	2318.75
24.000	534541T	CATH F5 INF AR I MOD 100CM Lot#: 18535672 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	5	EA	477.76	2388.80
25.000	534545T	CATH F5 INF AL I 100CM Lot#: 18537608 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	35	EA	470.15	16455.25
26.000	534622T	CATH F6INF TL JL 5 100CM Lot#: 18535635 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	15	EA	489.60	7344.00
27.000	534643T	CATH F6INF TL AR II MOD 100CM Lot#: 18535637 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	15	EA	509.04	7635.60

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3841695.33
------------------------------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
28.000	534645T	CATH F6INF TL AL I 100CM Lot#: 18540119 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	5	EA	498.90	2494.50
29.000	534650S	CATH F6INF PIG 110CM 6SH Lot#: 18537873 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	35	EA	475.22	16632.70
30.000	534676T	CATH F6INF TL 3DRC 100CM Lot#: 18535169 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	15	EA	470.15	7052.25
31.000	555500T1	5F INF 100cm RBL-TG 1SH\r\n Lot#: 18480094 Expiration Date: 06/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	105	EA	486.21	51052.05
32.000	5560040L	GC 5F 056 JL 4 LBT Lot#: 18530548 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	3	EA	1505.50	4516.50
33.000	5560540L	GC 5F 056 XB 3.5 LBT Lot#: 18503202 Expiration Date: 08/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	70	EA	1505.50	105385.00
34.000	5560800L	GC 5F 056 JR 3.5 LBT Lot#: 18510355 Expiration Date: 08/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	38	EA	1505.50	57209.00

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3841695.33
------------------------------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
35.000	5560820L	GC 5F 056 JR 4 LBT Lot#: 18530546 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	2	EA	1505.50	3011.00
36.000	588844P	GC 8F 088 STR 90CM Lot#: 18528279 Expiration Date: 04/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	1	EA	1505.50	1505.50
37.000	67000400	6F .070 JL4 100CM Lot#: 18534953 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	47	EA	1505.50	70758.50
38.000	67003400	6F .070 AL.75 100CM Lot#: 18534969 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	4	EA	1505.50	6022.00
39.000	67003600	6F .070 AL 1 100CM Lot#: 18534948 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	5	EA	1505.50	7527.50
40.000	67006000	6F .070 XB LAD 3.5 100CM Lot#: 18532906 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	28	EA	1505.50	42154.00
41.000	67006600	6F .070 XBLAD3 100CM Lot#: 18514813 Expiration Date: 09/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	38	EA	1505.50	57209.00

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

<b>Total Invoice Value</b> INR 3841695.33
---

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
42.000	67008000	6F .070 JR 3.5 100CM Lot#: 18517885 Expiration Date: 09/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	77	EA	1505.50	115923.50
43.000	67008200	6F .070 JR 4 100CM Lot#: 18535576 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	56	EA	1505.50	84308.00
44.000	67011000	6F .070 AR 1 100CM Lot#: 18514773 Expiration Date: 09/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	4	EA	1505.50	6022.00
45.000	67013000	6F .070 3 DRC 100CM Lot#: 18532936 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	10	EA	1505.50	15055.00
46.000	67019000	6F .070 IM Lot#: 18514811 Expiration Date: 09/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	7	EA	1505.50	10538.50
47.000	67021255	6F .070 RDC (LARGE) 55CM Lot#: 18526551 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	17	EA	1505.50	25593.50
48.000	67027800	6F .070 H-STK 100CM Lot#: 18534941 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	21	EA	1505.50	31615.50

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3841695.33
------------------------------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
49.000	77805200	GC 7F 078 XB 3 Lot#: 18537118 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	33	EA	1505.50	49681.50
50.000	77805400	GC 7F 078 XB 3.5 Lot#: 18530514 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442525 13-Feb-2026	41	EA	1505.50	61725.50
51.000	77806000	GC 7F 078 XBLAD 3.5 Lot#: 18532046 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	2	EA	1505.50	3011.00
52.000	77821255	GC 7F 078 RDC 55CM Lot#: 18511783 Expiration Date: 09/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	4	EA	1505.50	6022.00
53.000	77827800	GC 7F 078 H-STICK Lot#: 18517866 Expiration Date: 09/30/2028	9018390040	EAR99	MX	442525 13-Feb-2026	1	EA	1505.50	1505.50
54.000	451414H0	CATH TEMPO 4F VER 135° 100CM Lot#: 18545121 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	10	EA	373.75	3737.50
55.000	451430H0	CATH TEMPO 4F SIM 1 100CM Lot#: 18542601 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	55	EA	385.59	21207.45

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3841695.33
------------------------------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
----------------------------------	--------------------------------

<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	<b>End-User</b>
---	--	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
56.000	451514H0	CATH TEMPO 5F VER 135° 100CM Lot#: 18547479 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	30	EA	356.84	10705.20
57.000	502521	DGW .035 FC J3MM 150CM TEF Lot#: 35273788 Expiration Date: 11/30/2028	9018390050	EAR99	IE	442462 11-Feb-2026	130	EA	392.35	51005.50
58.000	502585	DGW .035 FC J3MM 175CM TEF Lot#: 35274518 Expiration Date: 11/30/2028	9018390050	EAR99	IE	442462 11-Feb-2026	70	EA	429.56	30069.20
59.000	504606T	SI AVANTI+ 6F MID W/O GW&OBT Lot#: 18542451 Expiration Date: 12/31/2028	9018390050	EAR99	MX	442462 11-Feb-2026	20	EA	602.94	12058.80
60.000	507714J	SGW STABLIZR .014 180CM J SOFT Lot#: 35274591 Expiration Date: 09/30/2027	9018390050	EAR99	IE	442462 11-Feb-2026	10	EA	2653.46	26534.60
61.000	534518T	CATH F5 INF JL 3.5 100CM Lot#: 18535065 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442462 11-Feb-2026	160	EA	463.75	74200.00
62.000	534519T	CATH F5 INF JR 3.5 100CM Lot#: 18526679 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	15	EA	476.91	7153.65

<b>Note</b> These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.	Total Invoice Value INR 3841695.33
---	------------------------------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
----------------------------------	--------------------------------

<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	<b>End-User</b>
--	---	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
63.000	534520T	CATH F5 INF JL 4 100CM Lot#: 18542552 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	55	EA	463.75	25506.25
64.000	534521T	CATH F5 INF JR 4 100CM Lot#: 18539280 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442462 11-Feb-2026	55	EA	463.75	25506.25
65.000	534541T	CATH F5 INF AR I MOD 100CM Lot#: 18530584 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	15	EA	477.76	7166.40
66.000	534550S	CATH F5 INF PIG 110CM 6SH Lot#: 18525912 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	5	EA	470.15	2350.75
67.000	534618T	CATH F6 INF TL JL 3.5 100 CM Lot#: 18532947 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442462 11-Feb-2026	350	EA	485.37	169879.50
68.000	534620T	CATH F6INF TL JL 4 100CM Lot#: 18525894 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	215	EA	483.68	103991.20
69.000	534621T	CATH F6INF TL JR 4 100CM Lot#: 18532256 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	130	EA	483.68	62878.40

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

<b>Total Invoice Value</b> INR 3841695.33
---

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
70.000	534622T	CATH F6INF TL JL 5 100CM Lot#: 18532264 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	10	EA	489.60	4896.00
71.000	534622T	CATH F6INF TL JL 5 100CM Lot#: 18535635 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442462 11-Feb-2026	15	EA	489.60	7344.00
72.000	534650S	CATH F6INF PIG 110CM 6SH Lot#: 18535113 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442462 11-Feb-2026	110	EA	475.22	52274.20
73.000	534660T	CATH F6INF TL IM 100CM Lot#: 18528084 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	15	EA	496.36	7445.40
74.000	555500T1	5F INF 100cm RBL-TG 1SHrln Lot#: 18480094 Expiration Date: 06/30/2028	9018390040	EAR99	MX	442462 11-Feb-2026	35	EA	486.21	17017.35
75.000	67000800	6F .070 JL5 100CM Lot#: 18534939 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442462 11-Feb-2026	1	EA	1505.50	1505.50
76.000	67003400	6F .070 AL.75 100CM Lot#: 18534968 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442462 11-Feb-2026	10	EA	1505.50	15055.00

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3841695.33

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
77.000	77800000	GC 7F 078 JL 3 Lot#: 18505755 Expiration Date: 08/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	2	EA	1505.50	3011.00
78.000	77805200	GC 7F 078 XB 3 Lot#: 18537117 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442462 11-Feb-2026	28	EA	1505.50	42154.00
79.000	77805400	GC 7F 078 XB 3.5 Lot#: 18530513 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	3	EA	1505.50	4516.50
80.000	77811000	GC 7F 078 AR 1 Lot#: 18496323 Expiration Date: 07/31/2028	9018390040	EAR99	MX	442462 11-Feb-2026	4	EA	1505.50	6022.00
81.000	451414H0	CATH TEMPO 4F VER 135° 100CM Lot#: 18545121 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	25	EA	373.75	9343.75
82.000	451435H0	CATH TEMPO 4F H1 100CM Lot#: 18518303 Expiration Date: 09/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	5	EA	962.50	4812.50
83.000	451513H0	CATH TEMPO 5F BER 100CM Lot#: 18533034 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	15	EA	356.84	5352.60

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value	INR 3841695.33
---------------------	----------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
84.000	451514H0	CATH TEMPO 5F VER 135° 100CM Lot#: 18547479 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	5	EA	356.84	1784.20
85.000	451543V0	CATH TEMPO 5F C2 65CM Lot#: 18537922 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	10	EA	922.79	9227.90
86.000	48005004R	Saber .035 5x40 135cm SL Lot#: 82345942 Expiration Date: 07/31/2028	9018390040	EAR99	CR	442526 13-Feb-2026	1	EA	5603.63	5603.63
87.000	502454	DGW .032 FC J3MM 260CM TEF Lot#: 35274162 Expiration Date: 08/31/2028	9018390050	EAR99	IE	442526 13-Feb-2026	10	EA	646.03	6460.30
88.000	502521	DGW .035 FC J3MM 150CM TEF Lot#: 35273788 Expiration Date: 11/30/2028	9018390050	EAR99	IE	442526 13-Feb-2026	165	EA	392.35	64737.75
89.000	502585	DGW .035 FC J3MM 175CM TEF Lot#: 35274518 Expiration Date: 11/30/2028	9018390050	EAR99	IE	442526 13-Feb-2026	35	EA	429.56	15034.60
90.000	534518T	CATH F5 INF JL 3.5 100CM Lot#: 18535065 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	40	EA	463.75	18550.00

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3841695.33

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
91.000	534519T	CATH F5 INF JR 3.5 100CM Lot#: 18526679 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	5	EA	476.91	2384.55
92.000	534520T	CATH F5 INF JL 4 100CM Lot#: 18542552 Expiration Date: 12/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	25	EA	463.75	11593.75
93.000	534521T	CATH F5 INF JR 4 100CM Lot#: 18539280 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	40	EA	463.75	18550.00
94.000	534541T	CATH F5 INF AR I MOD 100CM Lot#: 18530584 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	5	EA	477.76	2388.80
95.000	534550S	CATH F5 INF PIG 110CM 6SH Lot#: 18525912 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	105	EA	470.15	49365.75
96.000	534560T	CATH F5 INF IM 100CM Lot#: 18539200 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	5	EA	468.46	2342.30
97.000	534618T	CATH F6 INF TL JL 3.5 100 CM Lot#: 18532947 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	105	EA	485.37	50963.85

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value	INR 3841695.33
---------------------	----------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
----------------------------------	--------------------------------

<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	<b>End-User</b>
---	--	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
98.000	534620T	CATH F6INF TL JL 4 100CM Lot#: 18525894 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	50	EA	483.68	24184.00
99.000	534621T	CATH F6INF TL JR 4 100CM Lot#: 18532256 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	25	EA	483.68	12092.00
100.00 0	534645T	CATH F6INF TL AL I 100CM Lot#: 18537814 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	10	EA	498.90	4989.00
101.00 0	534650S	CATH F6INF PIG 110CM 6SH Lot#: 18535113 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	5	EA	475.22	2376.10
102.00 0	555500T1	5F INF 100cm RBL-TG 1SHrln Lot#: 18480094 Expiration Date: 06/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	95	EA	486.21	46189.95
103.00 0	5560800L	GC 5F 056 JR 3.5 LBT Lot#: 18510355 Expiration Date: 08/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	1	EA	1505.50	1505.50
104.00 0	67003400	6F .070 AL.75 100CM Lot#: 18534968 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	2	EA	1505.50	3011.00

<b>Note</b> These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.	Total Invoice Value INR 3841695.33
---	------------------------------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
105.00 0	67003600	6F .070 AL 1 100CM Lot#: 18530512 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	1	EA	1505.50	1505.50
106.00 0	67008200	6F .070 JR 4 100CM Lot#: 18530493 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	5	EA	1505.50	7527.50
107.00 0	67008200	6F .070 JR 4 100CM Lot#: 18535569 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	5	EA	1505.50	7527.50
108.00 0	67018000	6F .070 LCB 100CM Lot#: 18528347 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	1	EA	1505.50	1505.50
109.00 0	67018200	6F .070 RCB 100CM Lot#: 18530544 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	4	EA	1505.50	6022.00
110.00 0	67019000	6F .070 IM Lot#: 18514811 Expiration Date: 09/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	13	EA	1505.50	19571.50
111.00 0	77805200	GC 7F 078 XB 3 Lot#: 18537117 Expiration Date: 11/30/2028	9018390040	EAR99	MX	442526 13-Feb-2026	6	EA	1505.50	9033.00

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3841695.33
------------------------------------

# Commercial Invoice (continuation)

<b>Invoice Number</b> 0001014706	<b>Invoice Date</b> 17-02-2026
<b>Exporter</b> CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	<b>Ship To</b> CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

**End-User**

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
112.00 0	77805400	GC 7F 078 XB 3.5 Lot#: 18530513 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	5	EA	1505.50	7527.50
113.00 0	77806000	GC 7F 078 XBLAD 3.5 Lot#: 18528320 Expiration Date: 10/31/2028	9018390040	EAR99	MX	442526 13-Feb-2026	1	EA	1505.50	1505.50

**Note** These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Total Invoice Value INR 3841695.33
------------------------------------